[ Efficiency vs vertpos |
~ 0.7
£0.09
g
20.08
(8]
$0.07
3]
£0.06
0.05,
0.04

.................................................

................................................

-

LA L AU L AR AR RN LLRRY LRRL RRRR
e

0.03
<+
0.02EF-H1iH-- BT ++ --------
k] : :
0.01E4 -4 TS TR R
- . &
o eBFrrr Tl T
Tt
1HH - e - T “E ESS

0.95
1072 107 1

10 0?
TP vertr (cr%)

—=— /gataz/legianni/pareto-opurestar STC -pTo —TT__original_l

T o T
—=rd —— DOM_TT _pLF _pt09_2PU
[Efficiend —— DOM_TT _pLF_pt09_3PU

~ 0.1 T T T T
T e |
) . . . . .
L R R S
> : : : : :
2 : : : : :
SOOTE sy
S : : : : :
e A A B R A
5} : . . . !
0.05]--
0.04 -
0.038{t I FET A g+ i

002 1At gy
001&.......;........;.:...?éﬁ*ﬁ?ﬁ?ﬁﬁ.......; ______ |

......................

=30 -20 -10 0 10 20 30
TP vert z (cm)

[ Efficiency vs. sim PV z |
~ 0.1
>
2.0.09
S
#0.08
£0.07
3
£0.06
Q
o
£0.05
3]
0.04
0.03
0.02
0.03

1.0

Ratio

1

0515510 -5 0 5 10 15 20

Sim. PV z (cm)




	Contents
	Page 1


